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Engineering

Department of Communications Engineering, College of Engineering, University of Diyala, 2016-2017

Class: Second Year

Instructor: Dr. Montadar Abas Taher
Room: Comm-02

Solutions to Homework 01



!\--
L]

[_edfw*f fxevcigeS  SERionk

D Avs.  pl)=E-trt
pen -t b8 o)
—~ —'f:3 1 ¥ t @Q







S fly =241 -5t 1ok vk -4

<, 6\“’\\\ on
L =

[ =) PO o

€
f(-t)——g(t) 5 t) v (-t +,§4

=94t 4 5¥ - -t -

[(1) +fE2) It ‘?(ﬁ‘ B O
'L"’ ,\_5}_ i, =
f/f)+ﬁft> -4¥




@3(*) \;

\ Solwtian 50 = Iﬁ(*)'*?(‘t)}

J, (1) =+ 13603 1] \Q
e el f_}(—‘\:) &%
}

9 ('“L—) - L

) = [

9&)’?] . *
3&;\%6}0 G\;} a.\

S







- 3
At . A \g e\
AM“% MWy Thges TS
a A

—“\k ”‘u\\-\cﬂ C o n

1S
_ -0 @
fa)=Ac 1 ¢ (b\.Q

pio- 1ty [l }gg AEPKQ
[ ——‘[(_’ltrf“)i(-?l@ J@@




2 )
@ 3 &M“’ = @
- >t

= ' =
9,(t) =at + b
gt =0,t=0 = o= b|

9[{) 1, t= l,cb‘l"ﬂ'l'p-b:-

S T N
9(4;) %%1@14“\7—9\&"‘/1’——& <b
\;.s-—a‘?mﬁaI K

(Jc)at2'©"2a+

M >° e
?t ~HILE®

- G

ot

ol &t (-"f/
o 0 [sewho







©

' W) = cos @)+ St + Sinld)csSlE)
Sb\"‘*'on Wi-t) = cos(-t) + S\n1) +Sin(-t) cS - ~t)

))(t) cos(t) —=Sin (£) — Smu)c@

Ve (4) = \[\n(*—) +\n(—t)] L cos[+)+5//t *&&)
y costt) - ﬂ %

he (+) :LZQ COS&)] = c oS () -6

 ho®) = - W) =2 e n(—L)-l—Sm@ff(-E)
; -\-Sm(@@‘)“’w‘ﬂ

| s =d [2 S§ m&)@
e (+) ng

@




@ Yl = 1+ bess® + £ Sine) ++ sin(cos@®:

30\0\'\‘\10’)

e ‘s i
A(\NG \(v\du/ x\,\x‘r e wven Yeven =even

e ven % 6 dd =<>¢JJ @K

o d X even =6dd

sdd X 6dd — &
¥ < \n ez + s oAJ aﬂms({) /S Qven, they @) %
A Swmee £ s even o/ Solt) is n Sml~t)®

* Since L 1S O/M SINt) i§ s % is bfe&mﬂ) cos(t) is even:

o Y, (=1 4 S

9,00 =+ 46@ e @
6 :



. @
ONL ’/5"”(“?+g)/ ; Ju s ?meg;:cl
SeWNen iy fsin(ET )= Jeos(S2E)/ <

1 (677¢) e @Q

) & :gm(,_i{ 5}?
¥ S)w(égé) :% (:63\@ ne)

_ Q’ (8&( £l ne )

s (DB 7= =
i 7/ =z 3 T o—1 TNy 1 nét
o, AL 3 (o T pvatbiona) number

oo fﬂ) (S onpediodic
\



@

e ITE
@ Py =¢7F + €%
yanE ‘ w-45=5
56\v\\\o‘n ﬁ) g Vg Qe{‘\t\é‘\k il \mﬂé .

0% g nex-pelifdic \Q
¢ origl SO RS
Y v~ yg—nb bt "/ 3
%‘mc"— o &—Cw/‘] e K & ‘
\nést-—-?e(‘lﬂic' % O
, L 4
D v =7 sinem)(5§E4)_Q)

Cvene
N
2 X® '6
clt ‘&
even

c c‘:?\ Rve Q netlow
| + \
‘ \')(t) :Sl® og(rr) : Qe(rn')git T'z_l-;

1 . o) cos(])+ o5 x)Sin(p) Stn(QF‘t) g o
' sm(: B)- Sm(x)CO’S(F) casE)s (F) ) } gectdic =Y

sin (X—Bf=
LESln(O‘ £8) +Sin (A o)l o 3

L =

Lo
_Sin(mTt)<o3(Tt) N : S\
(+) = ) $in e |oa WEE) 15 ReTidde

\ $.n(u)w§(ﬁ) -
x =3Tt

p =Tt | ha =28 [TE) ¥







.

50\"\'\’;"” Sines Hhe 37%\«“ y(t) won
| : . i V\m’\
')F 'S O e\nerm AR

T ﬁiﬁ)ﬁli: f;a]%:% é

‘?e{"‘Aa‘Q) hence_




	29112016130248
	29112016130248_001
	29112016130248_002
	29112016130249
	29112016130249_001
	29112016130249_002
	29112016130249_003
	29112016130250
	29112016130250_001
	29112016130250_002
	29112016130250_003
	29112016130251
	29112016130251_001
	29112016130251_002



